148 __
< “

llsl

|
hi

4 i
<HYumma

oy -‘F'; _Wﬁ-qm—mwﬂi Wk i e ﬂm‘
W i = o M R R =

S E S = SR

2 3 R A & A 4



ikl o 1 = 2% @ PLidkt 58 il )11 2

CEAER A

ZIHE I %%

LR UE N RN

AETT ) M e bifg i 2



PR H (CIP) il

AR = @GN s LY (o . St
SRR 2 FIERTA A, 2003, 12

S S

ISBN 7-5062-6068-9/H.611

SR rex

LAERR... 1. 2... [l BE—EEEZR—KPFER—HE

[V.H310.42

oh BN B CIP SRS (2003) 4 028644

BH YR

ERRFIE =% @ IEEWINEG (FERB)

o = EWE A
i,%{fg"’liﬁ: ,,./&;q:
st RR: AH SRR A A AL RTA 7
x 17 HHERE A5 AR A F L5 2 ]

CIlEsta N K87 137 5 mlifﬁ: 100010 )
H & ZHHr S AN S5
Ep Rll: A AR ER
FF . 787x10921/16 EDak: 24
=R . 53T
R YR 2003 4F 12 HH 1 IR 2003 4F 12 HHS 1 ENR

ISBN 7-5062-6068-9/H.611

SEMT: 30.00 UG

FRALERE FEN LR



/.

HY

Tl

(2 BT = A B AL SR ) 2 2 7 5 K 2 BV = SR B 7E 2T S F AT (1
BUERILE 4 S S, BRI CRSESEEEE M) A (T B B i = %
R o A HE R 4 U7 S BRAR D SSHRAR . VR L B (ORI )
B SIS RO R AR S RS TR HERNT IR D AR SEL K S AT U A I
SBINTUHR, K5 5 5 RBAS T W6 b XA T 2 M S R, T2 4t
T . ASOH B SRR AT, % MR B, SOTIMERR, 3B & K ARE. BFh
R BTR K B % ST

RSOV BT S5 7 10 = 2 T BURRE W74, (BT 22k . R 0T S B g
B, WF S HRAENT ) B SRR

A I B F TR AT — N2, RIS 40-50. LA P AT LIRS 2 4 1
WLRIE VR . VEVERERIA RS T AR, TR 2 e
SIS 1R SN B2 5 1 K 2 BB B — R 00T, MBSk, AP UE
YA 2 4 2 A 25 T

ot A b 2 S S R R MBI AR 24 2 &b, B R R 4R T

i 2003 4 11 AT
0 M 7 27 Bt



T T B B e (1)
A W I T T e, (1)
O T I TR I iR g T o (5)

AT WF IR ST (10 ) oo (7)
T T G IR e (28)
E R VI T 2 - TP (28)
B T M e, (31)
B T T Ao (34)
2 110 U PPRPPPP (38)
B T A A (41)
B N T 0] o (49)
T A (52)
T B (60)
S L B I S e (68)
T B T R e (72)
o e vl £ e WSO TR OPRTRTRRRPTRPRTRN (75)
B T B B BB I oo (79)
A e = o RO P RORPRRRT (86)
0T AR A e (93)
B T B B A et (96)
BTN TRIE AT .o« oo s » o onn s i s » s § 68 4 59553 0553 F RIS # S9E0 e (100)
FEA-BN TEERSRIIA . IR A e (105)
B AT VR LR IR (110)
B T A (206)
A B B B T A B TT oot (206)
g N Ml e 2t L N B2 2 OO (208)
B [BBTRIRER ] CAD BB ...oenoomeis s s gawes § S6ink 5 ndros § SArkis's B isiie ¥ 554w 4 suras 8w xm (216)
B B N (258)
R & s w4 o o it o i 8 S SR § SN § Y § (264)
S, . . oot s o s s e s e s i 55585 & 54N 8 8 o KRS € A & L ¥ Wiea o 3t 1w e (268)
B BT U I B A oottt (268)

B B B ... .. ovosisimss i simsn s sinos s diibins & Has o $asiie o a4 s Hsen o st s 8 i @ e Sanst§ B8 (269)



2003 1F 6 AWILA K% HIE =g %Rtk
2003 4F 1 HWLA KF3E =g iRtk %

B: B KT ESL



L A TPAE LY

o3

KFDEE =R ANV S B4 2 2 /£ 3R O L5 B B 7

ﬁ%%ﬂ%zﬁ%ﬁk%%%*,%ﬁ%%E*%E%WE%H%ﬁ‘%ﬁi%iﬁ%ﬁﬁﬁ@i,

VRN TGl 120 AN, SHEVT 8, IOV, BEREETELL 70% 4 &K . '
ﬁ%ﬁ%ﬁﬁ@%zmﬁ%@%AﬂﬁmmmoﬁsﬁmmmmnA%ﬁHWﬁLﬁ@ﬁ~ﬁ%ﬁZW
%Wﬁ,%ﬁ@,ﬁﬁﬁﬁ—ﬁ@@osﬂﬁzﬁﬁi,ﬁﬁ%ﬁﬁiﬁﬁﬁzﬂ@%@ﬂ,ﬁi%%ﬁ,
B AR Wy — . LA _b B Sk 22 T0 4 45

%ﬁm%%%%—mﬁmm,ﬁﬁ%ﬁ%%ﬁﬂ%?iﬁﬁm@%@%i%%?%msﬁmK%%
%ﬂw,W%ﬁ%%ﬁ,I%ﬁﬁ%%%ﬁﬁ&ﬁ%ﬂ%%ﬁﬁﬁﬁo¢ﬂM%i%%@mMﬂ%ﬁmﬁ
FHNTF, AT A GEE VT 77 P $RE 4

By Wr 213 % 2 W7 43 #
—. XEE S
LGRS 4
Eﬁﬁ¢,%$ﬁﬁéﬁﬂ—%ﬁ$,%&ﬂﬁﬂ\é%\%ﬂ‘ﬁﬁ\%ﬁ%QEZﬂ%%ﬁ¢,ﬁ
?ﬁ%ﬁﬂﬁﬁ%ﬁﬁ%%&“ﬁ,mm‘ﬁ\%\%%oﬁﬁﬁ¥ﬁﬁﬁ,E&%ﬁﬁ%ﬁﬁ?%ﬁ
MEN,EEEﬁEWE*,@%Mﬁ%%%ﬁ&%%ﬁfﬁ%%%ﬁ?ﬁﬁﬁﬁﬁm%%omwm¢
6 HIM%E 5 8l
W: Are you going to the meeting? It will start at 1:30.
M: Yes, but I will be twenty minutes late.
Q: When will the man attend the meeting?
1:10 C) 1:50
1:30 D) 2:00
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W: Good morning. What can I do for you?
M: Morning. Five airmail stamps, please. They are going to Los Angeles.
Q: Where did the conversation most probably take place?
At an airport. C) In the man’s office.
In Los Angeles. D) At a post office.
IETRZZEHE Do APOANE IR AR AT LUK LI 2 — 4 £ 35 R 2 T 1E  “Five airmail stamps™,
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W: The pipe is leaking and there is water all over the floor.

M: Why don’t you call Mr. Peters ?

Q: What does Mr. Peters do?
He is a boat builder. C) He paints watercolors.
He smokes a pipe D) He’s a plumber.
WA D, plumber 838 11, %X 1E 91T 44 B2 The pipe is leaking and there is water all over the floor.”
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M: Why didn’t you stop when we first signaled?

W: I’'m sorry. Will I have to pay a fine?

Q: What’s the probable relationship between the man and the woman?

Policeman and thief C) Teacher and student

Policeman and driver D) Director and actress
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M: [ wonder if I could borrow your bicycle.

W: You certainly could if I had one.

Q: What does the woman mean?

She is willing to lend him her bicycle.

She refuses to lend him her bicycle.

She doesn’t have a bicycle.

She has lent her bicycle to someone else.
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W: I"d like to know your impression of New York.

M: You know, it’s strange. Before 1 arrived, I didn’t think I’d like New York. But since I got here, I’ve really
enjoyed it.

Q: what does the man think of New York?

He thinks he is a stranger here in New York.

He thinks New York is not good.

He thinks New York is a wonderful city.

He doesn’t like it at all.
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W: Frank, would you like to go to the cinema with me tomorrow night?

M: I wish I could, but I have to work on my term paper.

Q: Is Frank going to the cinema?

Yes. He’ll go after he finishes his homework..

Yes. He’ll write his paper after he returns.

No. He doesn’t like going to the cinema.



No. He has to finish his homework.
BRE D BERFTHEBEES &7 0 “TR”, MR “RABEN, ERIEE 2T, ” PRI RT DL
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Shall we ...?

Why not ...?

Why don’t you/we ...?

How/ What about ... ?

w97 F 6 HAHMLE 3 4.

M: We really must go to the post office right away.

W: Why don’t we have lunch first?

Q: What does the woman want to do?

Eat before leaving.

Leave immediately.

Stay in the post office for a while.

Find out the right way to the post office. -
%%%Aoﬁﬁﬂ¢%“Wwdm%wem”%maﬁﬁ%%:ﬁﬁﬁ%E%%T—¢@w,@uWﬁ%
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M: It’s much better to wait until tomorrow to go . Don’t you agree?

W: Yes, I couldn’t agree more.

Q: What does the woman think?

She doesn’t agree with the man.

She thinks that it is better to wait.

She thinks that it is better to drive at night.

She doesn’t think that the man made a wise decision.

RSB AR <1 can’t agree more.” (FRSEAFIE), LIS R B, T A A D #2FHI0, 4
AR = E M

e JEICESY

IR S R AR SR 4y Ky BAR LK
HORYERESC, B R ) .
HIWERESC, A ARSI m N H AR
BRI, 4 R R BRI R,

KT HE R 7% R0 A B YA e 5

MRIEFE SRR T3, W LSRRI Ay =3 U . A0 RRIET T, A — R s P
PR, A8t 17 A7 fig L BB o L 35 e T

1. 8

LY L 2 R Y 2 o 4 SO B AR a8 RO JEAB RS . LR TR A
What’s the main idea of the passage?

What is this passage mainly about?

What is the speaker mainly talking about?



What is the passage mainly about?

Which is the best title for the passage?
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Many people go to church on Sundays, but others don’t. Many sleep late on Sunday morning, but others don’t.
Some people work on Sundays, but most don’t. However, almost everyone reads the Sunday paper.

Often the paper is waiting outside the door when the family gets up. The newspaper boy has delivered it.

The Sunday paper is usually very thick. It has many advertisements and many different sections. The adults of
the family like the front page, the editorial page, and the world news section. Many men also read the sports
pages and the financial pages.

Most men don’t read the women’s pages, but the mother of the family usually does. The women’s pages have
news about parties and marriages, and advice about food, health and clothes.

Most Sunday papers have funny stories, which children enjoy. Old people read the death notices, which tell about
people who have died during the week.

17. What does almost everyone do on Sundays?

Gets up late. C) Goes to church.
Reads the Sunday Newspaper. D) Goes shopping.
18. When is the Sunday newspaper delivered?

Early in the morning,. C) On Sunday evening.
At noon. D) In the afternoon.

19. What do many men like to read?
Advertisements about clothes.
Advice about food and health.
News about marriages and parties.
Sports and financial pages.

20. Who likes funny stories?

Men. C) Women.
Everyone. D) Children.
IEf MK B,AD,D.
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What can you infer from the passage?
What does the passage imply?
What can be concluded from the passage?
What can you learn from the passage?
LL 99 4F 1 H ) Passage one i
Mr. And Mrs. Smith had always spent their summer holidays in New Jersey in the past, staying in a small inn at
the foot of a hill. One year, however, Mr. Smith made a lot of money in his business, so they decided to go to

London and stay at a really good hotel while they went touring around that famous city.



They flew to London and arrived at their hotel late one evening. They expected that they would have to 20 to bed
hungry, because in that small inn in New Jersey, no meals were served after seven. They were therefore surprised
when the man who received them in the hall asked whether they would take dinner there that night.

“Are you still serving dinner?” asked Mr. Smith.

“Yes, certainly, sir,” answered the man. “We serve it until half past nine.”

“What are the times of meals then?” asked Mr. Smith.

“Well, sir,” answered the man, “We serve breakfast from seven to half past eleven in the morning, lunch from
twelve to three in the afternoon, tea from four to five, and dinner from six to half past nine.”

“But that hardly leaves any time for us to see the sights of London!” said Mrs. Smith.

14. What does the story imply?

Small town people may easily get confused in big cities.

Small town people are more honest than city people.

Big hotels give better service than small inns.

Big hotels give no better service than small inns.
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A secretary. C) A customer.
A waitress. D) A housewife.
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M: What kind of soup would you recommend?
W: We have very nice tomato soup and clear soup, Sir.
Q: Who is the woman?
%fﬂ“ﬁﬁﬁ%mﬁﬁ%?”ﬁf@%“ﬁﬁ%%%%%ﬂE%Hﬂﬁﬁﬁi&%m,ﬁ%%%%ﬁ
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The train broke down and will not arrive.
The train will probably arrive at 9:45.
The train may arrive but the woman is not sure.

The train will probably arrive at 10:45.
R THCAS IR, 7] LRI SR 32, At R IEDYAN ST A5 0 42 “The train”, I H. “arrive” 0L & 13,
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M: Excuse me, when will the 9:15 train arrive?

W: It’s been delayed an hour and a half because the bridge was broken.

Q: What do we learn from the conversation?
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2001 4F 6 H Passage One, Questions 11 to 13:

11. A) Because he wanted to turn on the lights of his car.

B)Because he wanted to turn off the lights of his car.

Because he left the key in the car.

Because he wanted to stand at the back of the theater.

12. A) Because he was still worried.

B)Because he couldn’t find his seat again.

Because he didn’t like to sit in the middle of the row.

Because he didn’t want to bother the people again.

13.  A) Twice. B) Once.

C) Three times. D) Four times.

REFAM— 1 T0U5 W] LA T 7 55 AR B L 2R 2 1 7R3, Ja 2 SR B T R, (0037 () 30 J8 Sk g e
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Peter was late for the show. His seat in the theater was in the middle of one of the rows. Half the people in the
row had to rise to let him pass, and he was embarrassed to cause so much trouble. Then when he was
comfortably seated, he began to worry about whether he had turned off the lights of his car. If he hadn’t , the
battery would be run down by the time the show was over. Finally he could not stand it any longer. Even more
embarrassed than before, he stood up and began to move in front of the people.

“Excuse me, please. Excuse me,” he said to each person as he passed. In fact, his lights were off. All his worry
had been for nothing. When he returned to the theater, he felt he just couldn’t bother people again and decided to
stand at the back of the theater, rather than ask them to rise a third time.

11.Why did Peter suddenly want to leave his seat?

12. Why did he stand at the back of the theater after he got back from the car?

13. How many times did he make the people in his row rise to let him pass?
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W: Then I’'m going to take one of these after every meal and another at bedtime?
M: That’s right, and if the pain isn’t gone by Monday, give me a call and we’ll make another appointment.

Q: Where did this conversation most probably take place?

T TR AN, SCIE R AR
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In a department store.



In a law court.

In a doctor’s office.

In a police station.
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Exercise 1
Section A
Directions: In this section you will hear 10 short conversations. At the end of each conversation, a question will
be asked about what was said. Both the conversation and the question will be spoken only once. After each
question there will be a pause. During the pause, you must read the four choices marked A),B),C),and D), and
decide which is the best answer. Then mark the corresponding letter on the Answer Sheet with a single line
through the center.
Example: You will hear:

You will read:
At the office.
In the waiting room.
At the airport.
In a restaurant.

From the conversation we know that the two were talking about some work they had to finish in
the evening. This is most likely to have taken place at the office. Therefore, A) “At the office” is the best answer.
You should choose [A] on the Answer Sheet and mark it with a single line through the center.

1. A) She paid $40 for the coat.
B) Her husband presented it to her as a gift.
C) She bought the coat on her fortieth birthday.
D) Her friend sent it to her as a birthday gift.
2. A) To keep his old car and get a new one.
B) To leave it in the garage to be repaired.
C) To sell his car for a new one.
D) To get his car repaired later.
3. A) Husband and wife. C) Doctor and patient.
B) Father and daughter. D) Teacher and student.
4. A) The man went to the concert, but the woman didn’t.
B) The woman went to the concert, but the man didn’t.



C) The speakers did not go to the concert.
D) Both speakers went to the concert.
5. A) An English textbook. C) A chemistry book.
B) A Chinese textbook. D) A history book.
6. A) The woman goes to school during the day and works at night.
B) The woman has to work to support herself.
C) The woman’s classes are not difficult.
D) The woman studies at night.
7. A) She felt that he won’t accept anything.
B) She’s sure he already has a pocket calculator.
C) She thinks he has almost everything he wants.
D) She’s afraid he wants more than she can afford.

8. A) Tom survived the accident. C) Someone saved Tom’s life.
B) Tom was killed in the accident. D) It did little damage to Tom’s car.
9. A) The train is crowded. C) The train is empty.
B) The train is late. D) The train is on time.
10. A) No, all the rooms are taken. C) Yes, there are some spare rooms.
B) Yes, there is a double room. D) Yes, there is a single room.
Section B

Directions: In this section, you will hear 3 short passages. The passages will be read twice. At the end of each
passage, you will hear some questions, which will be read only once. After you hear a question, you must choose
the best answer from the four choices marked A),B),C) and D). Then mark the corresponding letter on the
Answer Sheet with a single line through the center.
Passage One
Questions 11 to 13 are based on the passage you have just heard.
11. A) Her husband had got a higher position.

B) Her husband had lost his job.

C) She wanted to have a cleaner house.

D) She wanted to move to New York.
12. A) His telephone went out of order.

B) The buyers had to leave soon.

C) He began to work at 8 a.m.

D) He had made an appointment with her for 8 a.m.
13. A) They considered her lazy.

B) They saw something they had never seen.

C) They considered her foolish.

D) They saw something familiar to them.

Passage Two
Questions 14 to 16 are based on the passage you have just heard.
14. A) The silk T-shirt in white color.

B) The cotton T-shirt with a slogan or picture.

C) The nylon T-shirt worn on playground.



D) The wool T-shirt worn for work.

15. A) T-shirts feel soft and wash well.
B) T-shirts are smart and comfortable.
C) T-shirts go well with trousers.
D) T-shirts are suitable for evening wear.
16. A) New technology is being employed.
B) Advertisements are being widely used.
C) New designs are being adopted.
D) More synthetic materials are being introduced.
Passage Three
Questions 17 to 20 are based on the passage you have just heard.
17. A) For protection against other animals.
B) For protection against other dogs.
C) Just for fun.
D) For the purpose of guarding the house.
18. A) Because they did not eat other animals.
B) Because they were useful for protection.
C) Because they were good hunters.
D) Because they always obeyed their masters.
19. A) For companionship. C) For protection against robbery.
B) For amusement. D) For hunting.
20. A) The city can be a lonely place.
B) Life in the west can be very dangerous.
C) People in the west are fond of animals.
D) The dog is a useful and friendly animal.
Exercise 2
Section A
Directions: In this section you will hear 10 short conversations. At the end of each conversation, a question will
be asked about what was said. Both the conversation and the question will be spoken only once. After each
question there will be a pause. During the pause, you must read the four choices marked A),B),C),and D), and
decide which is the best answer. Then mark the corresponding letter on the Answer Sheet with a single line
through the center.
Example:  You will hear:
You will read:
At the office.
In the waiting room.
At the airport.
In a restaurant.

From the conversation we know that the two were talking about some work they had to finish in
the evening. This is most likely to have taken place at the office. Therefore, A) “At the office” is the best answer.
You should choose [A] on the Answer Sheet and mark it with a single line through the center.

1.A) He lent her his extra pen.
B)He was afraid of losing his pen.



C)He offered her a pencil.
D)He said he didn’t have any extra ink.
2. A) The teacher reviewed a previous lesson.
B) The teacher taught a new lesson.
C)The teacher postponed the class until Friday.
D)The teacher made the students write in class.
3. A)It’s going to attract a lot of students.
B) It’s going to be a lot of fun.
It’s going to require a lot of reading.
It’s going to work out quite well.

4. A) She agrees to lend him the car. C) She refuses to lend him the car.

B) She offers him the car. D) She is pleased to lend him the car.

5. A) To the beach. C) To a movie theatre.

B) To a play. D) To a restaurant.

6. A) She is late for class. C) She is unable to finish class assignment.
B) She hates school. D) She has difficulty concentrating in class.

7. A) He is often late for meals.

B) He is expecting a letter from abroad.
He wrote to his family last month.
He is anxious to go back home.

8. A) He is modest. C) He is proud.
B) He is satisfied. D) He is upset.
9. A) Europe. C) Canada
B) Here. D) California.
10.  A) The train is crowded. C) The train is on time.
B) The train is late. D) The train is out of order.
Section B

Directions: In this section, you will hear 3 short passages. The passages will be read twice. At the end of each
passage, you will hear some questions, which will be read only once. After you hear a question, you must choose
the best answer from the four choices marked A),B),C) and D). Then mark the corresponding letter on the

Answer Sheet with a single line through the center.

Passage One
Questions 11 to 13 are based on the passage you have just heard.

11. A) The crust. C) The plate.
B) The ground. D) The boundary.
12. A) Two. C) Seven.
B) Seventy. D) Twelve.

13. A) The east coast of North America.
B) The west coast of North America.

The middle of the Atlantic Ocean.

The middle of the Pacific Ocean.



Passage Two
Questions 14 to 16 are based on the passage you have just heard.
14. A) They want to attract attention.
B) It is fashionable to wear such clothes.
C)They appear respectable in such clothes.
D)Riding a motorcycle makes one dirty.
15. A) It is efficient. C) It is convenient.
B) It is exciting. D) It is dangerous.
16.A) If he always wears protective clothing.
B) If he can see everything around him clearly.
If he is very careful.
If he has a lot of defenders.
Passage Three
Questions 17 to 20 are based on the passage you have just heard.

17. A) He was struck by lightning. C) He was very old.
B) He had a car accident. D) He fell down in his yard.
18. A) His wife. C) A tree.
B) A clock. D) Lightning.
19. A) Hiding under a tree. C) Driving a car.
B) Entering the house. D) Lying on the ground.

20. A) A fall from the tree.
B) The unexpected return of his wife.
C) Another flash of lightning,.
Another heavy blow.
Exercise 3

Section A

Directions: In this section you will hear 10 short conversations. At the end of each conversation, a question will

be asked about what was said. Both the conversation and the question will be spoken only once. After each

question there will be a pause. During the pause, you must read the four choices marked A),B),C),and D), and

decide which is the best answer. Then mark the corresponding letter on the Answer Sheet with a single line

through the center.

Example:  You will hear:
You will read:

At the office.

In the waiting room.

At the airport.

In a restaurant.

From the conversation we know that the two were talking about some work they had to finish in
the evening. This is most likely to have taken place at the office. Therefore, A) “At the office” is the best answer.
You should choose [A] on the Answer Sheet and mark it with a single line through the center.

1. A) The pear. C) The sea food.
B) The weather. D) The cold.



